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Discussion and decision

Introduction

RAN2 has received a LS [1] from RAN1 asking whether RAN2 could review the ACK/NACK error requirements (especially for NACK to ACK erroneous transmission in UL) and possibly investigate protocol level solutions that would allow for a relaxation of the said requirements. This contribution clarifies our concerns and views on the error requirement.

Concerns on error requirements

· Control signalling should be delivered more reliable way than user data.
During the joint RAN WG1/WG2 meeting on HSDPA (Sophia Antipolis, France, 5 - 6 April 2001) RAN WG1 and RAN WG2 agreed on the error requirements for the HARQ ACK/NACK transmission in the UL (in particular probability of NACK to ACK error < 10e-4) considering concerns such as 10e-2 BLER is well-known operating point for user data and it is common understanding that control signalling should be delivered more dependable way than that for user data. We believe that these concerns are quite reasonable and it seems proper requirement that probability of NACK to ACK error < 10e-4. 
· Throughput degradation is expected by transmission delay
It can be noted that NACK to ACK error can be recovered only by retransmission in the case of AM while it cannot be recovered in the case of UM according to the current specification.
If we relax the error requirements, more frequent retransmission in RLC layer will be occurred in the case of AM and more loss will be occurred in the case of UM. In the case of AM, such a retransmission will cause a delay inevitably and we cannot avoid throughput degradation. So we believe that probability of NACK to ACK error should be less than 10e-4 from the throughput point of view.
· RAN1 has the possible solutions already
The LS from RAN1 says that they already have a couple of solutions to resolve the problem but RAN1 asked whether RAN2 could possibly investigate protocol level solutions. Because RAN2 already has quite stable specification for HSDPA and it seems to be impossible to find out the solution, which does not have any impact on current specification. Moreover it will take a lot of time to evaluate the RAN2’s solution. So we prefer RAN1 solution to this problem since RAN1 already has had quite a long discussion and has some candidates as the solution.
Conclusion

Considering the above concerns, we propose that RAN2 preserve the current error requirement for NACK to ACK error and ask RAN1 to find out the best among their solutions.
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